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QUESTION 1

Where are cacheable objects defined? 

A. Via the cache monitor 

B. Via the cache viewer portlet 

C. Via the cachespec.xml file 

D. Via the Integrated Solutions Console 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_8.5.5/
com.ibm.websphere.nd.multiplatform.doc/ae/tdyn_dynamiccacheconfig.html 

 

QUESTION 2

An administrator upgrades the IBM DB2 JDBC driver. The test connection operation fails. On checking the System.Out
log the administrator finds that the JVM is still using the old JDBC driver. 

What could be the possible reason for the failure? 

A. No driver JARs exist. 

B. The driver upgrade failed. 

C. There are multiple drivers in the provider classpath. 

D. DB2UNIVERSAL_JDBC_DRIVER_PATH was NULL. 

Correct Answer: B 

 

QUESTION 3

Which two methods are used for communicating session linkages between the client and the server? (Choose two.) 

A. Cookies 

B. LTPA Token 

C. Rest Services 

D. URL Rewriting 

E. HTTP Response codes 

Correct Answer: CE 

Representational State Transfer (REST) is a lightweight framework for designing applications that use 
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HTTP to make calls. REST uses HTTP to perform the Create, Read, Update, and Delete (CRUD) 

operations between client and server. 

Applications interact with the services by using HTTP, POST, PUT, GET, and DELETE operations. 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSZLC2_7.0.0/ 

com.ibm.commerce.webservices.doc/concepts/cwvrest.htm 

 

QUESTION 4

An administrator has removed a node, but all the resources associated with the deleted node still exist. 

What can the administrator do to ensure the node configuration is removed from the cell repository? 

A. Run the command syncNoode. 

B. Refederate and remove the node. 

C. Run the command cleanupNode. 

D. Perform node synchronization via the Integrated Solutions Console. 

Correct Answer: C 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSAW57_9.0.0/
com.ibm.websphere.nd.multiplatform.doc/ae/rxml_removenode.html 

 

QUESTION 5

Which statement is true about a request made from a browser for a jsp running in an application server? 

A. The HTTP server plug-in loaded with the embedded HTTP server within the application server forwards the request
to the application server. 

B. The plug-in configuration file loaded with the embedded HTTP server within the application server forwards the
request to the application server. 

C. The HTTP server plug-in loaded with the HTTP server forwards the request to the embedded HTTP server within the
application server. The embedded server forwards the request into the web container. 

D. The plug-in configuration file loaded with the HTTP server forwards the request to the embedded HTTP server within
the application server. The embedded server forwards the request into the web container. 

Correct Answer: A 

When IBM HTTP Server receives a request for a JSP file, it passes the request to WebSphere Application Server -
Express\\'s servlet engine, which calls the JSP processor. The JSP processor is an internal servlet which converts a
JSP file into Java source code and compiles it. The servlet that implements the JSP processor is
org.apache.jasper.runtime.JspServlet. 
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